
Choose the word that best joins the sentences. 
 
Mrs. Sandoval is at the bakery. 
He wants a nice cake for the party he is giving. 
 

 still 

 with 

 soon 

 because 

Complete the following sentence using the 
correct word. 
 
There were many  ____________ howling in 
the night. 
 

 wolf 

 wolfs 

 wolfes 

 wolves 

Which of the following  sentences is correctly   
written? 
 

 Its raining. 

 Its’ raining. 

 It’s raining. 

 Its’s raining 

Homework for the Week of March 23-26th 
 
1. Read nightly and log your reading. 
2. Visit RAZ-Kids and Dreambox  3X this week 
3. Do the sheet below 

Choose the word that best joins the         
following two sentences together. 
 
She went to the doctor. 
She fell down. 
 

 that 

 why 

 after 

 during 

Circle the correct answer. 




